Pei Hwa Presbyterian Primary School
Semestral Assessment 2 — 2010 Total
Mathematics

Primary 1 100
(Time: 1 hour 30 min}

Name: Class: )

Date : Parent's Signature:

‘Section A { 10 x2m = 20 marks )
Choose the correct answer and write its number in the brackets provided.

There are rockets.
(1) 6 2) 7.
(3) 8 “4) 9 )

FELT

2. Add4 and 3. The answer is
(1) 1 @ 2

3) 6 @7 | ()

53



3.

24 — 6 =

Arrange these numbers from the greatest to the smallest:

31,

(1) 13, 23,31, 32

(3) 32,23,31,13

(1) 12

(3) 22

1 - [ =3+ 3

(1) 5

(3 3

13,

(2)
(4)

(2)
(4)

(2)
(4)

32

32, 31,23, 13

13, 31, 23, 32
¢ )
18
30 (
2
6 (




The longest line is

A —d

B |-

c | -

D | |

(1) A BECR:

@) © . @0 ¢«

44 is 10 more than

(1) 54 (2) 24 ‘, |
() 34 @ oea ()
Which one df the following is correct?
(1) 82=7tens22o0nes  (2) 77 = 70°tens 7 ones
(3) 68 =150 tens 18 ones (4) 57 = 5tens 7 ones
« )




9. David has 15 cookies. | |
He shares his cookies with his brothers, Jonathan and
Isaiah.
How many cookies does each of them get?

[T,

10. "Samuel is 9 years old.
His sister, Joanne is 5 years older than him.
How old is his sister in 3 years’ time?

i

1) 17 @) 14

- (3) 12 - 4 8 « )




Section B (30 x 2m = 40 marks) |
Write the correct answer in the blanks provided.
For questions that require working, show vour working clearly in the

space provided.

11. Colour two number balls to make 12.

12: Fillin the-missing numbérs:

13. Look at the pi(_:_tijre below and fill in the'answers in the
blanks providéd. |

¢ <', -
Finishin
Line

o~

| (a) The winneris _

{b) | .comes in-second.

57



14. The diagram below shows the number of stars collected
by 3 girls.

Yo Yo e Y| | Yo Yo e vl | v Yo v
¥ | [ e ¥ Yo e vy

Mary Jenny  Sarah
4 .(a) N The total numbef_ of stars collected by the 3 girls is
(b) - Jenny must collect » more stars n .order to

have as many stars as Mary and Sarah.

15.

The figure is made up of a :_ . and a




16.

17.

18.

19.

5 more than 70 is

Find the missing numbers

(@) 47and . make 50.

(b) 7lessthan94is _

4 fives = _

O
O

Circle the sweets in gréups of 3.

There are groups of 3 sweets.

00 000 000 000
O 00 06 00




20.

21, How much
Count and

money is there
write the amoy

as shown below?
ntin dollars.

) X I .




22. Study the given graph shown bélow. Fill in the blanks.

- Mary's Stationery items

<.

|00 00

/S -

- | Starybook: | Pencil -| Eraser Stapler " Notebook

fomrier——rl)

- (@) Maryhas __ _“pencils. T
“(b) Mary has twiceas many ______. as storybooks.
23. T79isequalto __ ~tens and 19 ones.

bm.on T

24. Colour the two parfs that form a rectangle.




25. Match two apples to make 9.

181}



7 Use the followmg number cards to form a subtraction
sentence.

0] 5 i_z— PT
-0

28. Kelly is thmkmg of a number
The number is more than 40 but’ less than 60.
She is counting in tens. :
What is the number?

!
29.

A

0 \TSJ N te'eY

- O units.

1 . - 63



30. Use the following cards to form the greatest 2-digit
number. Use each number once only.

6 1 8

The greatest 2-digit number is

31. = — - ' . ] . ;
'OOO @OO_OQO OOO OOO OOO

‘Based on the above, write a multlpllcatlon sentence
Fill in the number sentence

o

{1

32." There are 24 candles.
Lily puts-3 candles-igtoeach-hox,.

[RRN
RRRRRRA
00

She uses | " boxes.

2




Study the picture below, and answer question 33.

= . =~ Pencil

33. The pencil is _ . &= (onger than the fork.

34. Circle the_ﬁ_fib_ robot.

35. lhave 30 cents.
My mother glves me 40 cents mofe.
Colour the exact amount | have altogether.

oo
. - " .e ’ |

13

114



36. if /\ +21=24

then /\/\/\ /\ =

37. Look at the following graph and answer (a) and (b).

© D BB 2 i B

Rose Pansy |Sunflower | .

s +ewdds for 1 -Hﬁufegf:

make up 11 altogether.

(b) There are -more Orchids than Sunflowers.

38. Ray has a bag of blue and red marbles.
There are 11 marbles in the bag.
If there is one blue marble more than the red marbles,
how many blue marbles are there?

- - [ 4 b!ﬁe marbles
’ - -

el



39. Use numbers 1, 2, 4 and 5 to make 12 on each line.
Use each number only once.

-
I'd

15

b7



Section C: (5 x 4m = 20 marks)

Solve each of the following problem sums.
Show all your workings and statements clearly.
Write your answers in the space provided.

41. Bryan has 18 balloons.
He has 6 more balloons than Tom.
How many balloons does Tom have?

Tomhas | .. _balloons.

i6




42. There are 24 boys and. 56 girls in a canteen.

How many children are there altogether ?

mEeym}

There are ~ children altogether. -

43. Ahmad had 5 packets of sweets.
Each packet had 4 sweets. “
How many sweets did he have altogether?

(Make a MUltipIication sentence.). .

Hehad ‘" sweefs altogether.

17

67



44. John has this amount of money.

$ 10 $10

- $5

He spent $12 on a toy.
How much had he left?

Hehad § __ left,

18

% 1 Os[]




45. Jessica has 31 stickers.
Kathy has 6 fewer stickers than Jessica.

(a) How many stickers does Kathy have?
(b) How many stickers do they have altogether?

- Kathy has - stickers.

N

Il

Al

{a

They have  _sfi ckers altogether.

.ENDOFPAPER ... ... .......
PLEASE CHECK YOUR WORK

19
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Answer

1/ ~\ .,

EXAM PAPER 2010

SCHOOL : PEI HWA PRESBYTERIAN PRIMARY
SUBJECT : PRIMARY 1 MATHEMATICS

TERM : SA2

Q1L [ 02103 |1Q410510Q06]Q7 Q8| Q9 Q10

11) Colour ball 5 and 7 127, 3 133a) Ali 13b) Ramah
14a) 20 14b) 6 15) Circle, triangle 16) 75

17a) 3 17b) 87 18) 20

19)

There are 4 groups of 3 sweets

20) haif past9  21) $70 22a)4 22b) notebooks 23)6

24)

Page 1

13


Answer Key


25)6 > 3 26) 542 =7 27)10—2 =8 28) 50
29) 6 30) 86 31)6x3 =18

32)

She uses 8 boxes.

33) 4

34)

U 2"
35) colour 1 50-cent coin and one 20-cent coin

36) 12 37a) orchid and rose 37b)5

38) 6

NG

(-

40) 3, 3

Page 2



41)i18 -6 =1

42) 24 + 56 = 80

43)5x4 =20

44) $32 - $12 = $20

45a)31—6 =25

' 45b) 25 + 31 = 56

Page 3

18






